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M &

M ZTBTAE 2Y (2L Z/230=)
CRl: SAXE A =X (e &
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
OYRTAHE 1124 29 10,314
- FFID 329t 2 8502 *4,0000H 3,400
- 3IIE TElF 2=
22,0002 * 1204 264
- MAS)| APE P
150,000 %23 300
-T2 29 25 300,000 123 3,600
- 2AE B42E 100,000 %53 500
- AsS3HEY 22X 250,000 92t A 2,250
OREITAZ XH2a 29 9,120
- RFID 329t R 85024 %4, 0000H 3,400
- 39t ZalH 2=
22,0002 1274 264
- BMAS)| AQE R
150,000 %23 300
- Asahay 2EX 250,000 572 A 1,750
- 01210l SASH 2,000 30374 606
- 2AE B42E 100,000 %43 400
- 2A 29 25 200,000 * 123 2,400
ORATAZ X2a 2 6,070
- MAS)| TH 30,0002 %3H )
- BAS)| @D 25,0002 %104 250
- MAS)| O20} 22,0002 *1JH 22
- sl 2ER 86,0002 * 10074 600
- HF)|sE 24X 2,700 x200H 540
- RFID 3 ASIHE 85021 %4, 0007H 3,400
- Jlee= 65,0002« 1074 650
== 15,0002 * 10H 150
- JtEARIL(A) 5,000 %20H 100
- E2SA(M) 15,0002 * 1274 180
- ZREA(A) 8,800« 10H 88
ORATAZ N2 2% 25 2
9,393,000 9,39
ORAT M ATEY 0 P 4,380
- UH22AAL = 3,820,000 3,820
- 010IKl BE £ S 560,000 560
ORUTHE EEE 2=
1,200 %3, 5000H 4,200
ORATA 2 BEE2 It
5,000 %5004 2,500
OYRTAHZ UISSEH SXS% 22,783
- CAXSUHELED| SXE4
725,000« 122 8,700
- ROTABED)| RS
346,300 x 122 4,156




SA: EAE

¥ SSTAME 2(Ss2E/280=)
ol SATE MG FA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- ANEZAR RX2>
726,000 %122 8,712
- RFID USBHAIAE SXIE4
101,200& * 122 1,215
O2Z A2 TSzt |2+ 8,132
- TANSUHERE)] FAEs
218,000& * 122 2,616
- RFID XtSSAIAE |2
459,660 x 123 5,516
405 AtatE = 334,615 81,586 253,029
01 Tt =S F=HI 334,615 81,586 253,029
ORSZ A2 2 JXPD| 2 83,233
-LES 1,200,000 *2CH 2,400
- HHE3PC 1,085,830 *30CH 32,575
- 2R UEEEDI 15,081,000 *3CH 45,243
- EREA ALAH Y HIIH
770,000 ~1CH 770
- 0IsSE V& AN 750,000 = 1CH 750
- B0 2R 299,000 *5CH 1,495
ORY A2 USSAIAE HHl 2 197,167
- A E B 26,090, 130& »4CH 104,361
- ADIESSHA (S AHAXIAAIAH)
3,900,000 *4CH 15,600
- Usegd=)) 850,000 +2H 1,700
- AZ2AXEZ] 470,000 *5H 2,350
- A=Y ST 2,400,000 4K 9,600
- HAST| 5,500,000 »2CH 11,000
- AbA RFID 2IB 2| 3,740,080 6LH 22,441
- BIREZRIED| 2,200,0002*2CH 4,400
- HIZEA9HY 450,000 * 107K 4,500
- ZMEEDI 5,730,780~ 1CH 5,731
- 2P| 15,483,160 »1CH 16,484
ORLEAZ AIRSEIF 7Y 50,710
- Ggl0lRt=2 2 AIRE I
5,998,000& 5,998
- SEAEE MRS I
16,607,000& 16,607
- AIRA, 2o § Ot
28,105,000& 28,105
O A2 Uzd =235 728 3,505
- A3 28I 420,000 1CH 420
- BHED] 880,000 1CH 880
- U 250 990, 0003 *2CH 1,980
- Z0lA HEEH 225,000 *1TH 225
SSEAZ A2 AZ A 254,200 198,240 55,960




EA: TAZ
I DTCNY 2Y(SHUBZ/25002)
el SNTE A =X (Shol: % 2)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
Xl 122,000
Al 122,000
- 10,200
101 Q124d| 254,200 198,240 55,960
Xl 122,000
Al 122,000
- 10,200
M JI2HHIZ2EXsSEs 254,200 198,240 55,960
OBBEAIB HBAIZH SEAI(102) 244,000
- YPEHT 304
2,120,000& 4 H x6 = 23] 101,760
Xl 50,880
Al 50,880
R Y ERV L
260,000 x4 +6 & x23| 12,480
Xl 6,240
Al 6,240
- S2LEN2 20
2,120,000& *3H x6 = 23| 76,320
Xl 33,160
Al 38,160
- SECNE AUEE =
260,000 x3H 6 & x23| 9,360
Xl 4,680
Al 4,680
- eoT B 20
2,120,000& *3Hx6& 13 38,160
Xl 19,080
Al 19,080
- SUATHT ANRER
260,000& x3H 6= *13] 4,680
Xl 2,340
Al 2,340
- AT HABEZ 1,240,000& 1,240
Xl 620
Al 620
O%szy SXEQIE 5,100
- YRAE N2 300,000& 4 23| 2,400
- XA 300,000& 3 23| 1,800
- QAT N2 300,000&*3H*13] 900
OY&E4 5,100
- SR A 300,000 4% 23| 2,400
- XA 300,000& 3 *23| 1,800
- QYU A2 300,000&*3H*13] 900




SA SN2

¥ SSTAME 2(Ss2E/280=)

Chel: SMEE A =2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAEH] 2tel 72,397 70,710 1,687

201 er23 | 37,8%4 36,574 1,320
01 At2teltl 24,202 8,943 15,259
OLFE S BAZH 221t
66,0002 * 150K 990
OABE HaZ2 08 7
470,000 +2K 940
OZNZCIAIAE HEACT AMEZ
144,375« 12& 1,733
OZNZ2IAIAE M ALEZ
150,000& * 12 1,800
OYAAHE T2 7
1,290,000 *1H 1,290
ORSA2 dat 225 FY
100,000 +45H 4,500
ORdgs =tz 6,6003* 12 80
Ogx A2 ZEIDICIHA 22 9,614
- R4 UERAD RXNE=F
207, 7503+ 1,870
- Al RAEs 72,0003 * 122 864
- EEIMH S22 76,0002 123 912
- B2 HAHAIAE FXE=
60,5002 «12& 726
- HESD RrE4 147 40024 122 1,769
- OlrERIAAY SXES
122,360« 123 1,469
- EHOIX FXE= 167,000& * 122 2,004
OET A H&EH R 3,255
- 2otAH |AES 88,800& 122 1,066
- HERA |RIE=s 159,800& « 12& 1,918
- WHAIAE SN FRE=
15,6003 x 122 188
- BHAIAE HW RA2
6,900« 128 83
2 S5=2g4l 13,692 27,631 A13,939
Ogr=AZ QY Stad AE=
751,000& 122 9,012
O2xT A2 2IHY Stlgld AE=
390,000 x 122 4,680
207 AR 9,605 9,605
02 ML 9,605 9,605
O= A2 SHOIX JH& 9,605,000& 9,605
405 AHAHE S 24,898 24,898
01 AL =S F=H 24,898 24,898
Ok= gaty wHl 24,898
- grEA2 21,622,000 = 1CH 21,622




M EM
Hu: ZITHZ 2% (2LBZ/280%)
ool SATE AY F& EEE-E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
- ADEE AR 1,637,800 2 *1CH 1,638
- BEA TABHD)
1,637,8002 10} 1,638
HA 22l L X 21 440,941 349,117 91,824
201 et 436,075 349,117 86.958
01 AlR22lH 258,782 210,026 48,756
OF$I| dxiz 7,488
- gdREA 52,0002 *7CH* 128 4,368
- BECAH2 52,0002 *2CH* 12 1,248
- RUT A 52,0002 x4CH =92 1,872
O3JIHHI| Uiz 9,744
- HREA 65,0002 *7CH* 122 5,460
- EECAB 45,0002 =4CH* 122 2,160
- PUTAHB 59,0002 *4CH 02 2,124
OBA 29 228 ¢ 2,100
- gdREA 10,0002 128 1,200
- YT 10,0008 92 900
OBAIROIAH 8%= 3,597
- dREA 176,002 128 2,112
- QAT 165,0002 *92 1,485
OFA8Y A 42 1,400
- gdREA 700,0008! %13 700
- RAUTHB 700,0008! %12 700
OF-FS=2s 201,168
- gdREA 16.,764,0008 * 128 201,168
Oz 22= 300,000 =2 600
OB gAASH| 3,700
- HREA 200,0002 143 2.800
- QAT 10,0002 %93 900
Oall I8 =8 242
900,000 *13] 900
OM%+Z & 242 +TAANE
150, 0008 *12] 150
OSAMZE! &It 100,000 *4%H 400
OAg,52D| HER2IX DS
400,0002! %13 400
Oelstxal Algael 42
170,002+ 128 2,040
OFIIoHE 2| S4B 10,020
- HREA 700,0002 128 8.400
- QAT 180,000 8! 92 1,620
02| B ¥ RI2+= 4,200
- HREA 200,000+ 128 2,400
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0K
AT

x

il

2 2%(2322
NEE At =2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

- dEl 644,000 +2CH 1,288

- Xl 141,000 *3H 423
s A SN2 X 750,106 247,501 502,605
N e (KA 726,006 217,701 508,305
201 fer= 3| 74,150 27,701 46,449
01 At 2|l 74,150 27,701 46,449

Ogx A2 Hzdel 19,445

- Z A& A MARC 600 *17,0002 10,200

- RFID B & JIIH 300& 17,0000 5,100

- A0IEEAM2 ZEX 8,000&+402 320

- Ht2Ecte 88,000& 202 1,760

- HtZECtEIH 18,0003 »208+ A 360

- d)|scte 13,0002 »20& 260

- E7)|SctEI 25,0003 »208 A 500

- =&cHe 3603 *700& 252

- SHIo0IZ 9,900 +70& 693

OBEZANZ UHB2H2ES 8,256

- E A& A MARC 600& 7,000 4,200

- RFID EHD & I 300& *7,0000H 2,100

- Ht2Ecte 88,000& 102 880

- HIRECtEd|H 18,0002 * 108+ A 180

- d)|scte 13,0003 »7 91

- E7)|SctEI 25,0002 +72 A 175

- HIZEZEH el2 33,0002 42 132

- EFcte 3603 *300& 108

- A0l A 2202 *5007H 110

- S 2,800 *100H 280

O A2 &A= 17,724

- RFID B & Il 3002 #25,0000HK 7,500

- yRcY B.00021+ 362 3,34

- HtZEctEIH 18,0003 +388+ A 684

- d70|scete 13,0003 #3652 455

- 7| SctEI 25,0003 #3652 A 875

- HIREZEH el2 33,0002 +62 198

- 25t 360 *1,300& 468

- COA0IA 2203 *3,000H 660

- SHOIZ 9,900& »200& 1,980

- SHE= 2,800 *200H 560

- JIEet8elgs 1,000,000& 1,000

OFETAE 2=

28,725,000 28,725

405 AtatE = 651,856 190,000 461,85




M EM

M BTN 2 (L2 /25 H0=)
o2 AN2es & stuEMH2 X3 EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 I L =SEFSHI 36,856 0 36,856
OSATAZ DU 79
36,856,000 14 36,856
2 &EA7I 615,000 190,000 425,000
OgxEA2 T2
110,000,000& 110,000
OADEEAMZ EM72HI
20,000,000& 20,000
OZEZEAM& M7 60,000,000 60,000
OS2 X E 2
17,000& %25,0003 425,000
HEA 72 5,000 7,000 A2,000
405 RtaHE S| 5,000 7,000 A2,000
02 TA7HI 5,000 7,000 A2,000
OV, X 22 25,000& x200& 5,000
SNEA2 ¥ H2EM2 X2 19,100 22,800 A3,700
201 LB-2AH| 600 4,300 A3,700
01 Al2 2218 600 0 600
OBAE ol28t S #40t HE
100, 000-& =604 600
203 HRF&lY| 500 500
03 A FAIH R FAIH| 500 500
OstunE M2 X& =& 500,000& 500
301 LetEHZ 3,000 3,000
14 J|Et2 43 3,000 3,000
OFALH oIRs & 500,000 *63! 3,000
405 KHHESH| 15,000 15,000
02 SN 15,000 15,000
Ogtu M2 NJAEMH 7 15,000
- Ots&A 10,000,000& 10,000
- HAEEN 5,000,000& 5,000
HE2HEHI (A2 (DIEHIIEL 98,028 101,920 A3,892
[2ZHI(EAZ) 98,028 101,920 3,892
Jl2dul (=) 98,028 101,920 A3,89
201 LB-2AY| 31,740 35,240 A3,500
01 At=R2teld| 31,320 34,820 A3,500
ogalse 60,000 18 1,080
OFAMEZ JI2424|
40,0003 *30E 122 x90% 12,960
2A IIE2gR =8 Al
8,000 *30F «6A x 12& 17,280
02 3324l 420 420 0
ORERZ 35,0003 122 420
202 O4H| 50,400 60,480 210,080




M EM
M AY2IFHI(=A2) (OIEHIIE
gl J2ZH(EM2) (SH9: &)
SA - B BRA(SH) - HRA - of v G o HIDE2
01 =LHo1b 50,400 60,480 210,080
OJlEYR +¥ EZ0]
20,000215302 1431 » 122 50 50,400
208 R E Y| 6.200 6.200
02 HRINIGLEEIL| 1,260 1,280
OBRAIN P22 40,00024+32% 1,260
M RA2 YRR 4,920 4,920 0
ORN2Y YRETY| 410,002+ 122 4,920
405 XHeH3 St 9,638 9,683
01 A2 ZH S| 9,638 9,683
oWz 7 400,000+ 11 400
OSATAHZ H2 28 7 9,288
- SHHIE) 986,0002!+1CH %6
- A=A 6.420,00024+1H 6.420
- 2wDRI 941,000220H 1,882




